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KATARZYNA BERNECKA-URBAN

Aspect Forms in Teaching Russian to American Students

The author teaches Russian at an American college. A research was done
among second year students of a four year study of the Russian language. The
purpose of this research was error analysis and development of the best method to
present a verb aspect for American students.

The group of students who took part in the research was representing the
Novice-mid level. In their first year of study, the students took Russian classes
four times a week for 70 minutes per class period. In their second year of study,
they took classes 70 minutes each three times a week. The group was composed of
21 people.

On the first day of classes based on the available materiall we explained that
imperfective verbs are used to describe an action in progress without reference to
completion or termination and perfective verbs are used to describe an action that
have been or will be brought to completion or termination. We added that in most
cases imperfective and perfective verbs fall into pairs in which the two verbs are
indentical (or very close) in meaning but different in aspect. One such pair is
unTaTb, NPOUNTaTb

1 A npoymnTan pomaH.

I read the novel.

2. A ynTan pomaH.

I was reading a novel.

The first sentence indicates that action was brought to completion, and the
second sentence describes that action was in progress, but does not say it was
brought to completion. Such distinction does not present a problem for natives but
is undoubtedly a difficult problem for anglophones. We also added that perfective
verbs have only two tenses, while imperfective verbs have three tenses. This is
illustrated in the table below:

past
present
future



past

Perfective

future

We introduced two verb pairs:

umTaTb, MPOYUTATb

nucaTb, HaNucaTtb

They belong to the most frequently used verbs in Russsian language according
to the dictionary2 We made sure that the students knew how to conjugate verbs
and we gave examples (pattern sentences) both in Russian and English.

3.

Verb pair untaTb, NpoyunTaTb
Anélwa umnTan Becb ieHb 1 NMPOYMTaN BECb 3TOT A/IMHHbINA POMaH.
Alyosha was reading all day long yesterday, and read that whole long novel.
JleHa npoymnTasia TONBbKO MOJIOBMHY 3TOr0 poMaHa.
Lena has read only half of that novel.
Mbl 6yfeM KadKAblii AeHb YATaTb PYCCKYHO raseTy, Ham Hy>kKHa nNpakTuka.
We shall read a Russian newspaper every day; we need practise.
f1 3aBTpa NpoyuTalo 3Ty CTaTbio.
I shall read this article tomorrow.
AHHa TO/IbKO YTO NMpoynTana BaLly MHTEPEeCHyIo CTaTbHo.
Anna has just read your interesting article.
Verb pair nucatb, HanucaTb
1 nNucan yeTbIpe Yaca, U Hanucaa To/IbKO 3TO NMUCbLMO.
I have been writing for four hours, and 1 have written only this letter.
Bbl 3HaeTe, 4TO 3Ta MosI04asa NUcaTeNbHULA Hanucasa y>ke gsa pomaHa?
Do you know that this young writer has already written two novels?
Bbl 3HaeTe, uTo Konia Hanmcan cBoeil cecTpe? — 3Hato. OH cam npoynTasl

MHe CBOE MMcbMO.

Do you know what Kolya wrote to his sister? — | know. He read me his

letter himself.

4,

5.

OH BeposiITHO ByfeT nMmcaTb KHUTY eLLé rog uiv asa.

He will probably be writing this book for another year or two.
3aBTpa A Hanuwly MOoel MaTepu.

I shall write a letter to my mother tomorrow.

As a home assignment, we asked the students to choose the correct aspect in
sentences, e. g.

OH roBOpwUT, YTO OH (HanuLleT, 6yaeT NucaTb) HaM KadKabliA AeHb.

MbI (UnTanu, npounTasin) BeCb POMaH.

UTo Tbl genaewib? A4 (4mMTato, NpoynTaro) rasety.
We also asked the students to translate sentences, e.g.

| have read only half of his letter.

He has been writing a book for two years.

In the summer Anna was reading Dostoevsky.
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Next time class met students had a test. 21 students participated in this test. The
results of it were not satisfactory. In the first part of the test, students had to
choose a correct aspect in Russian sentences. The second part was a translation
from English to Russian.

Table below illustrates data collected:

Table I. Test #1.

Aspect No. of verbs used No. of Students Wrong Answers %
in sentences

Exercise 1 168 21 39 23.2

Exercise 2 147 21 56 38.0

Indicator of Correctness: Exercise 1. 76.8%
Exercise 2: 62.0%

After interviewing the students we discovered that most of them do not know
how many tenses are in English language and in general they are confused about
the tense system in their native language. We decided the best solution would be to
explain in a simple manner the tense system in contemporary English language.
We explained that the tense of the verb indicates when the action of the verb takes
place. We also explained that by placing the verb in a different tense and without
any additional information such as: | am reading now, | reaa yesterday, | shall read
tomorrow, one can indicate when the action of the verb takes place: now, before
now, or after now. In English, by using auxiliary verbs such as have, do, be and
participles we can create many tenses. The six principal tenses of English are
underlined:

Present Simple 1lread

Present Progressive I am reading
Present Perfect I have read
Present Perfect Progressive | have been reading
Present Emphatic I do read

Past Simple I read

Past Progressive I was reading

Past Perfect I had read

Past Perfect Progressive | had been reading
Past Emphatic | did read

Future Simple I will read

Future Progressive
Future Perfect
Future Perfect Progressive

I will be reading
I will have read
I will have been reading
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In Russian, verbs have only three tenses: past, present, and future. Each of these
three tenses corresponds to one of several different tenses in English, depending
upon context.

Present Tense

I write

I am writing

I have written A nuwy
I have been writing

I do write

Past Tense

| wrote

I have written

I was writing

| had been writing A nucan/Hanucan
| used to write

I would write

I did write
Future Tense
I will write
I will be writing A 6yay nucatb/HanuLy

I will have written
I will have been writing

We explained that, with one exception, all the present tenses of English verbs
may be translated into Russian by the present tense. The exception is the Present
Perfect.

The Present Perfect tense translates into Russian with the present tense only if
the contex implies that the action is continuing at the present time.

I have already lived in Moscow for two years.

(time expression shows action continuing in the present)

A >xuBy B MOCKBe y>ke ABa roga.

When the action of a Present Perfect verb does not continue in the present, it is
translated by the past tense. In the sentence below the action of the verb indicates a
past action that is no longer in force.

I have lived in Moscow.

A >Knna B Mockse.

We pointed on some rules which students should take for the consideration
when choosing aspect of a Russian verb:

1 In Russian, there is only one verb form to indicate the present tense; it can
only be formed from imperfective aspect verbs.
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2. All the progressive tenses emphasize action in progress and are always
translated with the imperfective aspect.
a. When lentered, he was reading.
Korpga A Bowuna, oH ynTavl.
b. Alyosha was reading all day yesterday.
Anéua ymTtan BYepa BeCb AEHb.
c. They will be reading all day.
OHW BeCb feHb ByayT UnTaTh.
3. Imperfective verbs are used in clauses which contain adverbs and adverbial
phrases like the following:

yacTo often nHoraa sometimes
peako rarely HUKorga never

06bI4HO usually gosnro for a long time
BECb [lEHb all day Ka>Kbl feHb every day

BCHO HOYb all night KaoK Iyt HOYb every week
BCE yTpO all morning KaxKa0e yTpo etc. every morning
MNOCTOAHHO constantly HeKoTopoe Bpems for a while
Bcerga always

4. Imperfective is used when past tense with “used to” is employed in English.
1. Every morning | used to read at seven o’clock.
Karkgoe yTpo B ceMb HacoB S uMTa.
2. Volodya used to read often, but now he seldom reads.
Bosiogs yacTto uvTas, Tenepb OH YMTaeT PeaKo.
5. Using a perfective aspect verb we can form the past tense and the future
tense. We use perfective aspect when we want to emphasize:
a. concrete, result oriented action
b. actions which emphasize the goal of completion within a defined time period
c. the completion of an entire action
d. a result oriented action with a stated time of completion
Expressions or other key words help to show which aspect to use.
a. They wrote all the letters.
(“all” emphasizes a concrete, result oriented action)
OHU Hanucann Bce NUCbMa.
b. | wrote the book in (within) three years.
(the entire action was completed within a defined time period)
A Hanucan 3Ty KHUTY 3a Tpu roga.
c. ljust wrote the letter.
(adverb emphasizes the completion of an entire action)
1 TONbKO YTO Hanucasia NUCbLMO.
d. They will read this book by supper.
(by supper indicates a result oriented action with a stated time of completion)
OHV NPOYUTAIOT 3TY KHUTY K Y>KUHY.
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6. Perfective is used when verbs are accompanied by adverbs or adverbial
phrases that emphasize the suddenness or unexpectedness, or the fulfillment of the

action:
BAPYT suddenly HaKoHeL|, finally
cpasy all at once KaK TOJIbKO as soon as
HeOXXMgaHHO  unexpectedly B KOHLIE KOHLIOB in the end
TOTYac e immediately TOJIbKO YTO just (a short time ago)
ceivac ke immediately

1 Victor spent all evening working on the problem andfinally solved it
BuKTOp pewan 3agayy BeCb Beyep M HaKOHel, peLuns eé.
2. Andrey hasjust finished writing his report.
AHpper TONbKO YTO KOHYMA NUcaTb CBOM AOKIa4,
These explanations, according to the students, were very helpful.
Consequently, we tested students again. This time the results were much better.
This table indicates so:

Table Il. Test #2

Aspect No. of verbs used  No. of Students Wrong Answers %
in sentences
Exercise 1 105 21 8 7.7
Exercise 2 105 21 13 13.7

Indicator of Correctness: Exercise 1. 92.3%
Exercise 2: 86.3%

A comparison of the results of the first and second test allows us to establish
the indicator of improvement. They were as follows:

Table 111
Exercise | Exercise Il
Test #1 76.8% 62.0%
Test #2 92.3% 86.3%
Indicator of Improvement 15.5% 24.3%

As a next step, another test was conducted with verbs oTBe4yaTb/OTBETUTD,
crpawmnBaTb/crnipocnTb. The results are as follows:



Table IV. Test #3

Number of uses Number of Incorrent %

students solutions
Exercise | 210 21 15 7.1
Exercise Il 160 21 12 57

Indicator of Correctness: Exercise |1 92.9%
Exercise 11 94.3%

Indicator of Improvement in comparison with the Test #2

Exercise | 0.7%

Exercise Il 8.0%

More tests involving other verb pairs showed indicator of correctness ranging
from 90.5% to 94.5%

In our opinion, the comparative approach of teaching Russian verb forms for
English speaking students is necessary, because this is the only way to convey to
them the differences in verb systems between the two languages. Such approach
also provides the students with the necessary knowledge allowing them to choose
proper Russian equivalents of the English tenses.

We are convinced that the acquisition of any foreign language depends on the
knowledge of the native language3
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BugoBble thopMbl NPy 06YUYEHNN PYCCKOMY S3bIKY aMepUKaHCKUX CTYAeHTOB

B cTaTbe UaeT pedb 0 MorbITKe 00y4YUTL CTYAEHTOB 2-F0 Kypca amMepUKaHCKOro Kosviemka
MpaBWILHOMY YMOTPEGIEHNIO (JOPM COBEPLLIEHHOIO M HECOBEPLLIEHHOTO BMAA PYCCKUX r/a-
ro/ioB Ha 6a3e OCO3HAHHOI0 YCBOEHUSI HEOOXOAMMOW 3MIEMEHTAPHOM JIMHIBUCTUYECKO WH-
thopmaLyn. ABTOP CTaTbM MPUBOAUT Pe3y/bTaTbl TECTOB, AOKasbiBatoLupe 3heKTUBHOCTb
[aHHOro criocoba 06y4eHVst BALOBbIM (dopMam, YroTpebrieHMe KOTOPbIX COCTaB/AET CyLLeC-
TBEHHYH TPYAHOCTb [/151 aMEPUKAHCKMX YUALLWIXCS.

4



